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TOpiC «=LIMITS AND DERIVATIVES

Ccosx

, then

1. Ifly= lim (x+|x|),l; = lim (2x + |x|)and I3 = lim
x> —2 x> —2

x_)n./zx—rr/z
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2. lim (x : j)x+3 is equal to
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. 1 2 4 2 4 .
3. llm—{l — cosZ — cosX + cosZt cosx—} is equal to
12 2 4 2 4
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1 1 1
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4. Iff(x)= P then J11_)1‘210 f(x)is
a)0 b) oo 1l

5. The value of lim (2 — x)™" 2 is equal to
x—1

a)e 2/ b)el/™ c) e/m

6. lim r" =0, thenr is equal to
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a)z b); c)2

7. The value of lim Z=>" s
x—0 x

a)log5 b)0 Al
8. limY1— o5

x—0 N2x

a)A b)-1 )0

9. The value of lim a*sin (ﬁx) is(a>1)

X—00
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10. lim (22— — ) is equal

0. xl_rj)lo T 312/ isequa to
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Al <3<l

d)e’

d) None of these

d) e—l/n

d)1

d)2log5

d) Does not exist

d) None of these
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12.

13. The value of lim———————is
x—0 x
1 1
a)l b)3 A —3
. sin 4x .
14. chl_r)réﬁ, 1S
a)4 b)8 c) 10
15. lim wequals
xo1x"—2x+1
a)3 b)0 c)-3
16. The value of lim \/azx2 t+ax+1-— \/azxz +1is
X—00
1
a); b)1 c)2
17. lim (—=1)], where [.] denotes the greatest integer function is equal to
x—0
a)0 b)1 c)-1
. (1—eYsinx .,
18. L{%W is equal to
a)-1 b)0 1
19. The value of lim (x ha 3)x+2 i
X—00
a)0 b)1 c) e?
20. If ar is a repeated root of ax? +bx + ¢ = 0, then limw i
x—a (x—a)
a)o b)a ab
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